Number – Skills Test 

(number operations and the relationships between them)

1) 930 ÷ 13

2) 90 ÷ 13

3) Four small cars cost a total of £48 623. What should a newspaper quote as a typical cost of a small car?

4) 107 pupils and staff need to be taken to the theatre. How many 15-seater minibuses should be ordered?

5) How many boxes of 60 nails can be filled with 340 nails?

6) 9.1 ÷0.1 

7) ¼  of 3.6

8) 50/3

9) Find the area of a triangle, base 5 cm and height 6 cm:

10) 3.7 × 0.99

11) Find the missing number: ( × 4) ÷8 = 5
12) 484 ×25

13) 3.15 ×25

14) 16 ÷4 + 8
15) 16 + 8 ÷4
16) 14 ×7 + 8 ×11
17) 100 ÷ ( 5 × 4)

18) 32 + 13 × 5

19) (32 + 42)2
20) a = 4  What is the value of 3a2?
21) (52  – 7) / (22  – 1)
22) 2.1 – (3.5 + 2.1) + (5 + 3.5)

23) 4.3 ×100

24) 60 ÷1000
25)  ÷ 100 = 4.7
26) 1.6 ×20

27) 0.2 ×8

28) 8 ×0.5

29) ×0.2 = 10

30) 0.04 ×9

31) 7 ×0.03

32) 80 ×= 8

33) Find x:  100 = x + 37

34) 10 = 3.62 + x

35) 50 – x = 28

36) 220 = 1000 – x

37) 30 ×60

38) 1400 ÷700

39) 900 ×20

40) 6300 ÷ 30

41) 47 × 0.1

42) 8 ÷ 0.1 

43) 9 ×0.01

44) 16 ÷0.1

45) 0.5 ×0.1

46) 4 ×0.6

47) 0.7 ×0.9

48) 0.2 ÷ 4

49) 42 + 9
50) (4 + 3)2
51) 42 + 52
52) 52 – 7
53) √(9 + 7)
54) √(40 – 22)
55) Find a: 3a = 15

56) Find x: x2 = 49

57) Find n: n(n + 1) = 12

58) How many minutes in 3 hours

59) Change 75 minutes to hours and minutes

60) How many hours in 3 ½  days

61) How many days in 36 hours
62) 360 + 250

63) 4800 – 1900

64) 7.8 + 9.3

65) 0.081 – 0.056

66) Convert 1/8 into a decimal

67) Express 3/5 as a percentage

68) Express 23% as a fraction and as a decimal

69) Express 70% as a fraction in its lowest terms

70) Find 1/8 of 20 

71) Find 75% of 24

72) Find 15% of 40

73) Find 40% of 400 kg

74) 60 pupils go to the gym club. 25% of them are girls. How many are boys?

75) Find 3/5 of 20

76) Find 1½ of 16

77) Find 125% of 240

78) Find 35% of 40

79) Arrange the digits 3, 5 and 2 to make the largest possible odd number

80) Write in figures the number two and a quarter million

81) A girl scored 67 in her first innings and 128 in her second innings. What was her total score?

82) Pencils cost 37p each. How many pencils can you buy with £3.70?

83) A 55 g bag of crisps has 20% fat. How much fat is that?

84) A boy saved £215. He bought a Walkman for £69. How much money did he have left?

85) A girl used 2 metres of wood to make 5 identical shelves. How long was each shelf?

86) Find two numbers whose sum is 14 and whose product is 48.
87) Three consecutive integers add up to 87. What are they?

88) Write in figures the number that is one less than seven and a half million.

89) Solve 45 + x = 92

90) The probability that it will rain in August is 0.05. What is the probability it will not rain in August?

91) 14 ×39 = 546. What is 14 ×3.9?

92) Find 25% of 10% of £400
93) Find the cost of 38 items at £1.99 each.

Make as many different answers as possible by putting brackets into the expression

3 × 5 + 3 – 2 ×7 + 1

e.g. 

3 ×(5 + 3) – (2 ×7) + 1 = 11

